Code No. : 10612 B Sub. Code : CMEC 11
B.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2023.

First Semester
Economics — Core
MICRO ECONOMICS —1
(For those who joined in July 2021-2022)

Time : Three hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer.
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Lionel Robbins gave the definition of
economics.

(a) material welfare

) wealth

(c) scarcity

(d) modern
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Micro economics is mainly based on the
in the economy.

(a) full employment
(b) unemployment
(¢) under employment

(d) disguised unemployment

Gophg Gsd @md Hloew vwearuri B cNHssmern

SgUUenL s  smSas  GuULPREIFWeT

<DLGUMIT.
() TTaYED (<=1) Carger
(@) <yLibavlis () OCGumamed ymieirev
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gave the basic idea of law of
diminishing marginal utility.

(a) Marshall

(b) Gossen

(¢) Adam Smith

(d) Lionel Robbins
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The concept of consumers surplus was introduced
by

(a) A.J. Dupuit
(b) Alfred Marshall

(¢) Duesenberry

(d) ‘Lioned Robbins
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The change in demand due to changes in income is | 8. sl ardual ———— Gauavaoly LUGUY euamss s
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(a) income demand
(@) eulimy () @&l ggib @daama
(b) income substitution
Carpenter is an example for division
(c) income variation of labour. |
(d) demand variation . (a) simple (b) complex
sCBTES aumearCan{Ear o drerar. ~ (¢) territorial (d) none of these
& 0T GO 11 ’ :
(@) &l () eTamenTHM 9. wser wsers Gophg Ced  elemarey elfeow
There are number of indifference (<) Gsélw eunggHar
curves, () eauanlls curgsdani
(a) few (b) infinite @) Qupesandser
(© three ) seven ‘ (FF)  @snemenior) GQurmaflwed <iflesrsar

Page5 Code No.:10612 B
Page 4 Code No.:10612B

(3 scanned with OKEN Scanner



10.

11.

At first, the law of diminishing returns was

explained by
(a) nationalist

(b) mercantilists

(¢) physiocracts

(d) classical economists
auariihg Qe  elenera)  &flg)
TS WLDMEGLD.
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Law of increasing returns 1is possible

(a) agriculture (b) industries

(c) service sector (d) none of these

PART B — (5 x 5 = 25 marks)

Answer ALL questions choosing either (a) or (b).

Each answer should not exceed 250 words.

in

(@) Qurmarmsnsdler e LU @O&EETEMS

TS (5.

Explain the scarcity definition of economics.

Or
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12.

13.

14.
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(<=1
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5 BT 6ont] GoT L QUITRETTSTTSS Cufweé
Qummartsmrssladlmpg Caumupssis.

Differentiate micro economics from macro
economics.

Comas eamerGasr@® SRCrrsdl smieugparer
sTremhEmers @DILIE G s.

Indicate the causes for downward sloping
demand curve.

Or
Caenau efiflenw efleufl&sayib.
Describe the law of demand.
Casmeu Ondlpsdleow emelb  pepsemar
wHLY[Hs.

Appraise the methods of measuring elasticity
of demand.

Or
UL clleneTeneu ellemé(Es.
Explain the substitution effect.
epasarsder @uedLsemar efleufl.

Describe the features of capital.

Or
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(<) Gaewel ugLler gmpun@samar Siwnraflss.
Determine the disadvantages of division of

labour.

15. (=) copps Ced  deveteyssrar  syashiGEameT
eSleums).

Discuss the causes for diminishing returns.
Or
(<) BamL sme 2 Husd eni@mar alerésEs.

Explain the long run production function.
PART C — (5 X 8 = 40 marks)
Answer ALL questions choosing either (a) or (b).
Each answer should not exceed 600 words.

16. (=) memenilary Qumrmeflwelear  p&lwuggieuld
LHmb eurbygsamer ELUSEH dels.
Evaluate the importance and limitations of
micro economics.
Or
(=) Qsdeusdlen Lamsemer edleT&ES.

Explain the characteristics of wealth.

Page 8 Code No.:10612 B

17.

18.

19.
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Analyze the characteristics and classification
of human wants.
Or

GonBg  Csd @ oL STLImL
eflglenw elwrrger ﬁg]u_fr]a; a'?]]mé;a;mmeumunL@

Critically - explain the law of diminishing
marginal utility.
Caamau Qpdipsflan B iamruds e
aﬂ@ﬂ(@éﬁﬁm Lp Biewruis@n sryefllsamer
Discuss the factors determining elasticity of
demand.

Or
BndHao ufds A&lssens < rmiis.
Examine the marginal rate of substitution.
orebg el et D& ST Cgrenss Camum gener
EHESONEG &(s.
Summarize the theory of Malthusian theory
of population.

Or
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Assess the functions of an entrepreneur.
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90. (=) wrmdlery cNdsrisaflar cldlenws prmis.
Examine the law of variable proportions.
Or
(=) Gndu sre 2 Huss sridleean NeTéE5.

Explain the short run production function.

Page 10 Code No.: 10612 B

(3 scanned with OKEN Scanner



